3. (2,0) Calcule a 4rea da regido limitada compreendida entre os gréficos de flz) =

?V1=12 e g(z) = 22(z - 1).

500 = X \TE -

30»\ = x?(x-—\‘}

&> xn=n s VoF = x —] 5

\-x? = we) \-;3‘-: ?&~Q}m-’r'\@’lﬂ - =0
N x= k=T Yoz =4

No ih%:ﬁ.f\f&jﬁb ‘&*:9;53,} \erron %%

§Gy 0 e gty <o,

.
fV =g 0) = A Woxd = x (k)

2 drea R &5

S 4

A= j\fb«) —»30\\\6)\0!

0

= g(fm - () dn

- 2
B VS BN AN
ié‘ = X }@«M
Vo
> ! A D
) gi‘a l“;‘ 75 |\
r.--m i
wi ) ‘\TIQJ o, % N
3 SR dn o [sertwsdl = | sen o)A
4
X :ssa,me-ci@&\:%s“al l !
M =wse3 & Tl ,
V=0 = o= _ il (-'\-“DOSL\'&\OL@-
x=1 = ©=Yp TqF )




